慶應義塾大学学術情報リポジトリ

Keio Associated Repository of Academic resouces

Title	Some convergence properties for a class of general linear processes
Sub Title	
Author	本田, 郁二(Honda, Ikuji)
Publisher	慶応義塾大学工学部
Publication year	1973
Jtitle	Keio engineering reports Vol.26, No.2 (1973.), p.15-25
JaLC DOI	
Abstract	Let X(t) be a general linear process defined by T. KAWATA (1972). In this paper the law of large numbers for X(t)X(t+τ) is studied.
Notes	
Genre	Departmental Bulletin Paper
URL	https://koara.lib.keio.ac.jp/xoonips/modules/xoonips/detail.php?koara_id=KO50001004-00260002-0015

慶應義塾大学学術情報リポジトリ(KOARA)に掲載されているコンテンツの著作権は、それぞれの著作者、学会または出版社/発行者に帰属し、その権利は著作権法によって 保護されています。引用にあたっては、著作権法を遵守してご利用ください。

The copyrights of content available on the KeiO Associated Repository of Academic resources (KOARA) belong to the respective authors, academic societies, or publishers/issuers, and these rights are protected by the Japanese Copyright Act. When quoting the content, please follow the Japanese copyright act.

KEIO ENGINEERING REPORTS VOL. 26 No. 2 YOKOHAMA 1973

SOME CONVERGENCE PROPERTIES FOR A CLASS OF GENERAL LINEAR PROCESSES

 \mathbf{BY}

 $IKUJI\ HONDA$

FACULTY OF ENGINEERING KEIO UNIVERSITY

SOME CONVERGENCE PROPERTIES FOR A CLASS OF GENERAL LINEAR PROCESSES

IKUJI HONDA

Dept. of Electrical Engineering, Keio University, Yokohama 223, Japan

(Received June 21, 1973)

ABSTRACT

Let X(t) be a general linear process defined by T. Kawata (1972). In this paper the law of large numbers for $X(t)X(t+\tau)$ is studied.

1. Introduction

Let m(S) be a real valued signed measure on Borel sets, generated from a function m(t) of bounded variation over every finite interval. Let $\xi(S) = \xi(S, \omega)$ be a real valued random measure on Borel sets S with $E[\xi(S)]^2 < \infty$ for any bounded Borel set such that,

$$(1) E\xi(S) = 0.$$

Consider a set function F(S) with property that

(2)
$$E\xi(S_1)\xi(S_2) = F(S_1 \cap S_2),$$

for any Borel sets S_1 , S_2 .

We define a nondecreasing function $F(\lambda)$ by

$$F([s, t)) = F(t) - F(s), \quad t > s.$$

For convenience, we modify the function $F(\lambda)$ and $m(\lambda)$ to be

$$F(\lambda) = \frac{1}{2} [F(\lambda+0) + F(\lambda-0)],$$

$$m(\lambda) = \frac{1}{2} [m(\lambda + 0) + m(\lambda - 0)].$$

Furthermore define

$$\eta(S, \omega) = m(S) + \xi(S, \omega),$$

for any Borel set S.

Suppose that a(t) is a real valued function such that

$$\int_{\alpha}^{\beta} a^2(t-\lambda)dF(\lambda) < \infty$$

$$\int_{\alpha}^{\beta} |a(t-\lambda)| |dm(\lambda)| < \infty$$

for any finite α , $\beta(\alpha < \beta)$.

Then the stochastic integral

$$\int_{a}^{\beta} a(t-\lambda)\eta(d\lambda)$$

can be defined in an ordinary way. (c.f. Doob (1953)).

Now if a stochastic process $X(t) = X(t, \omega)$, $-\infty < t < \infty$, of the second order is such that

$$\int_I E \left| \int_{\alpha}^{\beta} a(t-\lambda) \eta(d\lambda) - X(t) \right|^2 dt \longrightarrow 0,$$

as $\alpha \to -\infty$, $\beta \to \infty$, for any finite interval I, then X(t) is called a general linear process. This defined by T. KAWATA (1972), (1973) who discussed mainly about weak and strong laws of large numbers.

In this paper, we aim at studying the convergence properties of a sample covariance function of the general linear process.

2. Preliminaries

In order to treat the second order convergence properties of the sample covariance of a general linear process X(t), we restrict X(t) to the process of fourth order. Let us suppose X(t) is the fourth order general linear process such that

$$\int_{I} E \left| \int_{a}^{\beta} a(t-\lambda)\xi(d\lambda) - X(t) \right|^{4} dt \longrightarrow 0,$$

 $\alpha \to -\infty$, $\beta \to \infty$, in which the random measure $\xi(S)$ is $E[\xi(S)]^4 < \infty$ for any bounded Borel set. Furthermore we suppose the following conditions: there is a set function G(S) on Borel sets such that

$$(3) E\xi(S_1)\xi(S_2)\xi(S_3)\xi(S_4)$$

$$= G(S_1 \cap S_2 \cap S_3 \cap S_4) + F(S_1 \cap S_2)F(S_3 \cap S_4) + F(S_1 \cap S_3)F(S_2 \cap S_4)$$

$$+ F(S_1 \cap S_4)F(S_2 \cap S_3).$$

Then for a Borel set S we have

$$(3)'$$
 $E[\xi(S)]^4 = G(S) + 3[F(S)]^2$.

It can be shown that G(S) is σ -additive, if $E[\xi(S)]^4 < \infty$, and $\xi(S)$ is σ -additive in the fourth mean. We restrict ourselves to the case $G(S) \ge 0$ so that we can define the nondecreasing function $G(\lambda)$:

$$G(s, t) = G(t) - G(s), \quad t > s.$$

We modify the function $G(\lambda)$ as

$$G(\lambda) = \frac{1}{2} [G(\lambda + 0) + G(\lambda - 0)].$$

For finite α , $\beta(\alpha < \beta)$, suppose

$$\int_{a}^{\beta} a^{4}(t-\lambda)dG(\lambda) < \infty$$

and $EX^4(t) < \infty$. Moreover suppose that X(t) is fourth mean continuous.

3. Convergence Properties of Sample Covariance Function (I)

Convergence properties of sample covariance functions, which we are going to discuss, have close connections with the weak and strong laws of large numbers of the second moment of X(t). These properties play important roles in the communication theory. A special case of pulse train process was discussed by R. Lugannani (1971).

Theorem 1.

Let X(t) be a general linear process of fourth order defined in 2. Suppose that

$$G(t+\lambda) - G(t) = O(\lambda) \tag{3-1}$$

$$F(t+\lambda) - F(t) = v_0 \lambda + O(1) \tag{3-2}$$

for large $|\lambda|$ uniformly for $-\infty < t < \infty$, and that a(t) is bounded, squarely integrable, (which implies that $a(t) \in L^p$, $p \ge 2$), absolutely continuous with $a'(t) \in L^2(-\infty, \infty)$ and such that $a(t) \to 0$ as $|t| \to \infty$. Then

$$E\left\{\frac{1}{2A}\int_{-A}^{A}X(t)X(t+\tau)-EX(t)X(t+\tau)\right]dt\right\}^{2} \ \longrightarrow \ 0$$

as $A \rightarrow \infty$, uniformly for τ .

Proof.

$$E\left\{\frac{1}{2A}\int_{-A}^{A}[X(t)X(t+\tau)-EX(t)X(t+\tau)]\,dt\right\}^{2}$$

IKUH HONDA

$$\begin{split} &=\lim_{\stackrel{\alpha\to-\infty}{\beta\to-\infty}} \left[\frac{1}{(2A)^2} \int_{-A}^A dt \int_{-A}^A ds \int_a^\beta a(t-\lambda) a(t+\tau-\lambda) a(s-\lambda) a(s+\tau-\lambda) \, dG(\lambda) \right. \\ &+ \frac{1}{(2A)^2} \int_{-A}^A dt \int_{-A}^A ds \int_a^\beta a(t-\lambda) a(s-\lambda) \, dF(\lambda) \int_a^\beta a(t+\tau-\mu) a(s+\tau-\mu) \, dF(\mu) \\ &+ \frac{1}{(2A)^2} \int_{-A}^A dt \int_{-A}^A ds \int_a^\beta a(t-\lambda) a(s+\tau-\lambda) \, dF(\lambda) \int_a^\beta a(t+\tau-\mu) a(s-\mu) \, dF(\mu) \right] \\ &= \lim_{\stackrel{\alpha\to-\infty}{\beta\to-\infty}} \left[I + J + L \right]. \end{split}$$

Setting the function $f(\tau, \lambda) = \int_{-A}^{A} a(s+\tau-\lambda)a(s-\lambda) ds$ and by changing the order of integration we have

$$I = \frac{1}{(2A)^2} \int_{-A}^{A} dt \int_{\alpha}^{\beta} a(t-\lambda)a(t+\tau-\lambda)f(\tau,\lambda) dG(\lambda)$$

$$= \frac{1}{(2A)^2} \int_{-A-\beta}^{A-\beta} a(u+\tau)a(u) du \int_{-A-u}^{\beta} f(\tau,\lambda) dG(\lambda)$$

$$+ \frac{1}{(2A)^2} \int_{A-\beta}^{-A-\alpha} \int_{-A-u}^{A-u} + \frac{1}{(2A)^2} \int_{-A-\alpha}^{A-\alpha} \int_{\alpha}^{A-v}$$

$$= I_1 + I_2 + I_3. \tag{3-4}$$

In I_1 again changing the order of integration, we have

$$\int_{-A-u}^{\beta} f(\tau, \lambda) dG(\lambda)$$

$$= \int_{-A}^{A} ds \int_{-A-u}^{\beta} a(s+\tau-\lambda)a(s-\lambda) dG(\lambda)$$

$$= \int_{-A-\beta}^{u} a(v+\tau)a(v) dv \int_{-A-v}^{\beta} dG(\lambda)$$

$$+ \int_{u}^{A-\beta} \int_{-A-u}^{\beta} + \int_{-A-u}^{u+2A} \int_{-A-u}^{A-v} (3-5)$$

and hence

$$I_{1} = \frac{1}{(2A)^{2}} \int_{-A-\beta}^{A-\beta} a(u+\tau)a(u) du \int_{A-\beta}^{u} a(v+\tau)a(v) dv \int_{-A-v}^{\beta} dG(\lambda)$$

$$+ \frac{1}{(2A)^{2}} \int_{-A-\beta}^{A-\beta} \int_{u}^{A-\beta} \int_{-A-u}^{\beta} + \frac{1}{(2A)^{2}} \int_{-A-\beta}^{A-\beta} \int_{A-\beta}^{u+2A} \int_{-A-u}^{A-v}$$

$$= I_{11} + I_{12} + I_{13}. \tag{3-6}$$

Since we are supposing that $G(t+\lambda)-G(t)=O(\lambda)$ for large $|\lambda|$, there exists a constant K_1 , such that $G(\lambda-\mu)\leq K_1(\lambda-\mu)$, $\lambda\geq \mu$. Hence the integral I_{11} is

$$|I_{11}| \leq \frac{K_1}{(2A)^2} \int_{-A-\beta}^{A-\beta} |a(u+\tau)a(u)| du \int_{-A-\beta}^{u} |a(v+\tau)a(v)| (\beta + A + v) dv.$$
 (3-7)

Since $0 < \beta + A + v < 2A$, $-A - \beta < u < A - \beta$, and $a(t) \in L^2(-\infty, \infty)$ we have $|I_{11}| \to 0$ as $\beta \to \infty$. In the similar way it can be shown that $|I_{12}| \to 0$, $|I_{13}| \to 0$, as $\beta \to \infty$. So we have $|I_1| \to 0$ as $\beta \to \infty$ and similarly, $|I_3| \to 0$ as $\alpha \to -\infty$. Now again using the assumption of $G(\lambda)$, we obtain

$$\lim_{\substack{\alpha \to -\infty \\ \beta \to -\infty}} I = \lim_{\substack{\alpha \to -\infty \\ \beta \to -\infty}} I_2$$

$$= \frac{1}{(2A)^2} \int_{-\infty}^{\infty} a(u+\tau)a(u) du \int_{-A-u}^{A-u} dG(\lambda) \int_{-A}^{A} a(s+\tau-\lambda)a(s-\lambda) ds$$

$$= \frac{1}{(2A)^2} \left[\int_{-\infty}^{\infty} a(u+\tau)a(u) du \right]^2 \cdot O(A)$$

$$= O(A^{-1}). \tag{3-8}$$

Next we treat the integral J. $F(\lambda)$ can be written by $F(\lambda) = v_0 \lambda + \varepsilon(\lambda)$ where $\varepsilon(\lambda)$ is bounded. By using integration by parts and the condition that $a(t) \to 0$ boundedly as $|t| \to \infty$, we have

$$J = \frac{v_0^2}{(2A)^2} \int_{-A}^A dt \int_{-A}^A ds \int_{\alpha}^{\beta} a(t-\lambda)a(s-\lambda) d\lambda \int_{\alpha}^{\beta} a(t+\tau-\mu)a(s+\tau-\mu) d\mu$$

$$+ \frac{v_0}{(2A)^2} \int_{-A}^A dt \int_{-A}^A ds \int_{\alpha}^{\beta} a(t-\lambda)a(s-\lambda) d\lambda \int_{\alpha}^{\beta} \{a(t+\tau-\mu)a(s+\tau-\mu)\}' \varepsilon(\mu) d\mu$$

$$+ \frac{v_0}{(2A)^2} \int_{-A}^A dt \int_{-A}^A ds \int_{\alpha}^{\beta} \{a(t-\lambda)a(s-\lambda)\}' \varepsilon(\lambda) d\lambda \int_{\alpha}^{\beta} a(t+\tau-\mu)a(s+\tau-\mu) d\mu$$

$$+ \frac{1}{(2A)^2} \int_{-A}^A dt \int_{-A}^A ds \int_{\alpha}^{\beta} \{a(t-\lambda)a(s-\lambda)\}' \varepsilon(\lambda) d\lambda \int_{\alpha}^{\beta} \{a(t+\tau-\mu)a(s+\tau-\mu)\}' \varepsilon(\mu) d\mu + o(1)$$

$$= J_1 + J_2 + J_3 + J_4 + o(1), \tag{3-9}$$

where o(1) is a term which tends to zero as $\alpha \to -\infty$, $\beta \to \infty$. For J_1 by changing variables we get

$$J_1 = \frac{v_0^2}{(2A)^2} \int_{-A}^A dt \int_{-A-t}^{A-t} du \int_{t-\beta}^{t-\alpha} a(v) a(v+u) dv \int_{t-\beta}^{t-\alpha} a(w) a(w+u) dw,$$

from which we have, using Parseval relation,

$$\begin{split} \lim_{\stackrel{\alpha \to -\infty}{\beta \to \infty}} J_1 &= \frac{v_0^2}{(2A)^2} \int_{-A}^A dt \int_{-A-t}^{A-t} du \left[\int_{-\infty}^\infty a(v) a(v+u) \, dv \right]^2 \\ &= \frac{v_0^2}{(2A)^2} \int_0^{2A} du \int_{-A}^{A-u} dt \left[\int_{-\infty}^\infty |\hat{a}(x)|^2 e^{-ixu} \, dx \right]^2 \\ &+ \frac{v_0^2}{(2A)^2} \int_{-2A}^0 du \int_{-A-u}^A dt \left[\int_{-\infty}^\infty |\hat{a}(x)|^2 e^{-ixu} \, dx \right]^2 \end{split}$$

$$=J_{11}+J_{12},$$

where $\hat{a}(x)$ is the Fourier transform of $a(t) \in L^2(-\infty, \infty)$. J_{11} can be written

$$\frac{v_0^2}{(2A)^2} \int_0^{2A} \left[1 - \frac{u}{2A} \right] \left[\int_{-\infty}^{\infty} |\hat{a}(x)|^2 e^{ixu} dx \right]^2 du$$

Since $\int_{-\infty}^{\infty} |\hat{a}(x)|^2 e^{-ixu} dx$ converges to zero as $|u| \to \infty$, we obtain the result that $|J_{11}| \to 0$ as $A \to \infty$. In the similar way it is shown that $|J_{12}| \to 0$ as $A \to \infty$. Hence we have

$$\lim_{\substack{\alpha \to -\infty \\ \beta \to \infty}} |J_1| \longrightarrow 0, \quad \text{as} \quad A \longrightarrow \infty.$$

For J_2 , J_3 and J_4 we can apply the same argument. Since a(t) is absolutely continuous, $a'(t) \in L^2(-\infty, \infty)$, and $\varepsilon(\lambda)$ is bounded, we have $J_2 = o(1)$, $J_3 = o(1)$, $J_4 = o(1)$, as, $\alpha \to -\infty$, $\beta \to \infty$, Putting the above altogether, we have

$$\lim_{\substack{\alpha \to -\infty \\ \beta \to \infty}} |J| \longrightarrow 0, \quad \text{as } A \longrightarrow \infty.$$

L has the similar form which J so we can apply the same argument to obtain

$$\lim_{\substack{\alpha \to -\infty \\ \beta \to \infty}} |L| \longrightarrow 0, \quad \text{as} \quad A \longrightarrow \infty.$$

This complets the proof.

4. Convergence Properties of Sample Covariance Function (II)

In this section we discuss about the almost sure convergence of $\frac{1}{2A} \times \int_{-A}^{A} [X(t)X(t+\tau)-EX(t)X(t+\tau)]dt$. This property corresponds to the strong law of large numbers of the product moment. The idea of the proof of it is to regard the process of product moments of a general linear process X(t) as another second order process and appeal to the strong law of large numbers for a second order process, which was by T. KAWATA (1972), (1973), generalizing the way of I. N. VERBITSKAYA (1964), (1966).

Lemma (Thm. 6.1, 6.2, 6.3, of T. KAWATA (1972))

Let Y(t) be a real valued stochastic process of the second order with continuous covariance function $\rho(s,t) = EY(s)Y(t)$, where EY(t) = 0, $-\infty < t < \infty$, is assumed. Suppose

$$\left| \int_{n}^{n+1} E[Y(t)]^{2} dt \right| \leq K, \tag{4-1}$$

for all $-\infty < n < \infty$, K being a constant, independent of n, and

(ii) there is a nonnegative even function g(u), $-\infty < u < \infty$, and a function h(u), $-\infty < u < \infty$ such that

$$\left| \int_{0}^{x} \int_{0}^{x} \rho(u+\tau, v+\tau) \, du \, dv \right|$$

$$\leq \left| \int_{0}^{x} g(u) \, du \right| + \left| \int_{0}^{x} dt \int_{0}^{t} h(u) \, du \right|, \tag{4-2}$$

where

$$\int_{1}^{\infty} \frac{\log^2 x}{x^2} g(x) \, dx < \infty, \tag{4-3}$$

and h(u) is the Fourier Stieltjes transform $\int_{-\infty}^{\infty} e^{iu\lambda} dH(\lambda)$ of some bounded nondecreasing function $H(\lambda)$, with the property that

$$\int_{1}^{\infty} \frac{\log^2 x}{x^2} \, dx \int_{0}^{x} h(u) du$$

converges. Then we obtain

$$\frac{1}{A}\int_0^A Y(t) dt \longrightarrow 0$$
, as $A \longrightarrow \infty$. (almost surely)

Theorem 2.

Let X(t) be the general linear process defined in 2. Suppose that

$$G(t+\lambda)-G(t)=\mu_0\lambda+O(1),$$

$$F(t+\lambda)-F(t)=v_0\lambda+O(1)$$
,

for large $|\lambda|$ uniformly for $-\infty < t < \infty$, where μ_0 and v_0 are constants, and that a(t) is of $L^2(-\infty, \infty)$, bounded and absolutely continuous with $a'(t) \in L^2(-\infty, \infty)$, and $a(t) \to 0$ as $|t| \to \infty$.

Furthermore, suppose that

$$(1) \qquad \int_1^\infty \frac{\log^2 x}{x^2} \, dx \int_0^x dv \int_{-\infty}^\infty a(u+v+\tau) a(u) \, du \int_{-\infty}^\infty a(w+v+\tau) a(w) dw$$

$$(2) \qquad \int_{1}^{\infty} \frac{\log^{2} x}{x^{2}} dx \int_{0}^{x} dv \int_{-\infty}^{\infty} |\{a(u+v+\tau)a(u)\}'| du \int_{-\infty}^{\infty} |a(w+v+\tau)a(w)| dw$$

(3)
$$\int_{1}^{\infty} \frac{\log^{2} x}{x^{2}} dx \int_{0}^{x} dv \int_{-\infty}^{\infty} |\{a(u+v+\tau)a(u)\}'| du \int_{-\infty}^{\infty} |\{a(w+v-\tau)a(w)\}'| dw$$

converge for $-\infty < \tau < \infty$.

Then we obtain

$$\frac{1}{A} \int_{0}^{A} [X(t)X(t+\tau) - EX(t)X(t+\tau)] dt \longrightarrow 0$$

as $A \rightarrow \infty$. (almost surely)

Corollary

Let X(t) be a general linear process defined in 2. Suppose $G(\lambda)$ and $F(\lambda)$ are the same as in Theorem 2, and a(t) is of $L(-\infty,\infty)$, bounded, absolutely conti-

IKUJI HONDA

nuous and is such that $a'(t) \in L^1 \cap L^2(-\infty, \infty)$ and $a(t) \to 0$ as $|t| \to \infty$. Then the result of Theorem 2, holds.

Proof of Theorem 2.

Take $Y(t) = X(t+\tau)X(t) - EX(t+\tau)X(t)$, τ being a fixed constant. Then Y(t) becomes a second order process. Consider

$$S = \int_{n}^{n+1} E[Y(t)]^{2} dt$$

$$= \int_{n}^{n+1} E[X(t+\tau)X(t) - EX(t+\tau)X(t)]^{2} dt$$

$$= \lim_{\substack{\alpha \to -\infty \\ \beta \to -\infty}} \left[\int_{n}^{n+1} dt \int_{\alpha}^{\beta} a^{2}(t+\tau-\lambda)a^{2}(t-\lambda) dG(\lambda) + \int_{n}^{n+1} dt \int_{\alpha}^{\beta} a^{2}(t+\tau-\lambda) dF(\lambda) \int_{\alpha}^{\beta} a^{2}(t-\mu) dF(\mu) + \int_{n}^{n+1} dt \left\{ \int_{\alpha}^{\beta} a(t+\tau-\lambda)a(t-\lambda) dF(\lambda) \right\}^{2} \right]$$

$$= \lim_{\substack{\alpha \to -\infty \\ \beta \to -\infty}} [S_{1} + S_{2} + S_{3}]$$

$$(4-5)$$

Putting $t-\lambda=u$, interchanging the order of integration and again changing the variable, we easily see, as we did before, that

$$S = \int_{n-\beta}^{n+1-\beta} a^2(u+\tau)a^2(u) \, du \int_{n-\mu}^{\beta} dG(\lambda) + \int_{n+1-\beta}^{\lambda-\alpha} \int_{n-\alpha}^{n+1-\mu} + \int_{n-\alpha}^{n+1-\alpha} \int_{\alpha}^{n+1-\mu} .$$

It is easily verified that $|S_1| < \infty$, owing to the assumption $a(t) \in L^4(-\infty, \infty)$, $G(\lambda - \mu) \le K_1(\lambda - \mu)$ and the fact $|\beta - n + \mu| \le 1$, $|n + 1 - \mu - \mu| \le 1$. $|S_2|$ and $|S_3|$ can be also verified easily to be finite by integration by parts. The conditions that a(t) is absolutely continuous, $a(t) \to 0$ as $|t| \to \infty$ and $a'(t) \in L^2(-\infty, \infty)$, and $F(\lambda) = v_0 \lambda + \varepsilon(\lambda)$ where $\varepsilon(\lambda)$ is bounded, are used (c.f. (3-3), (3-9)). Hence S satisfies the condition (i) of Lemma (4-1).

Now taking $\rho(u+\tau, v+\tau)$ for the covariance of $Y(u+\tau)$ and $Y(v+\tau)$, we have

$$\begin{split} &\int_0^x \int_0^x \rho(u+\tau,v+\tau) \, du \, dv \\ = &\int_0^x \int_0^x E[X(u+t+\tau)X(u+t) - EX(u+t+\tau)X(u+t)] \\ & \quad [X(v+t+\tau)X(v+t) - EX(v+t+\tau)X(v+t)] \, du \, dv \\ = &\lim_{\substack{\alpha \to -\infty \\ \beta \to -\infty}} \left[\int_0^x \int_0^x du \, dv \int_\alpha^\beta a(u+t+\tau-\lambda)a(u+t-\lambda)a(v+t+\tau-\lambda)a(v+t-\lambda) \, dG(\lambda) \right. \\ & \quad + \int_0^x \int_0^x du \, dv \int_\alpha^\beta a(u+t+\tau-\lambda)a(v+t-\lambda) \, dF(\lambda) \int_\alpha^\beta a(u+t-\mu)a(v+t+\tau-\mu) \, dF(\mu) \end{split}$$

$$+\int_{0}^{x}\int_{0}^{x}du\,dv\int_{\alpha}^{\beta}a(u+t+\tau-\lambda)a(v+t+\tau-\lambda)\,dF(\lambda)\int_{\alpha}^{\beta}a(u+t-\mu)a(v+t-\mu)\,dF(\mu)$$

$$=\lim_{\substack{\alpha\to-\infty\\\beta\to-\infty}}\left[L_{1}+L_{2}+L_{3}\right].$$

Because of the assumption $G(\lambda) = \mu_0 \lambda + O(1)$, we can verify that $\lim_{\substack{\alpha \to -\infty \\ \beta \to -\infty}} L_1$ exists, by using the same manner in Thm. 1 (3-5) \sim (3-8). And we obtain

$$\lim_{\substack{\alpha \to -\infty \\ \beta \to -\infty}} L_1$$

$$= \lim_{\substack{\alpha \to -\infty \\ \beta \to -\infty}} \int_a^\beta dG(\lambda) \int_{-\lambda}^{x-\lambda} \left[\int_0^x a(v+t+\tau-\lambda)a(v+t-\lambda) dv \right] a(u+t+\tau)a(u+t) du$$

$$= \int_{-\infty}^\infty a(u+t+\tau)a(u+t) du \int_{-x+u}^u a(v+t+\tau)a(v+t) dv \int_{-r}^{x-u} dG(\lambda)$$

$$+ \int_{-\infty}^\infty a(u+t+\tau)a(u+t) du \int_u^{x+u} a(v+t+\tau)a(v+t) dv \int_{-u}^{x-v} dG(\lambda)$$

$$= L_{11} + L_{12}.$$

Again, by using the assumption $G(\lambda) = \mu_0 \lambda + O(1)$, we have

$$\begin{split} L_{11} &= \int_{-\infty}^{\infty} a(u+t+\tau) a(u+t) \, du \int_{-x}^{0} a(w+u+t+\tau) a(w+u+t) [G(x-u+t) - G(v-u+t)] \, du \\ &\leq \mu_{0} \int_{0}^{x} (x-v) \, dv \int_{-\infty}^{\infty} a(u+\tau) a(u) a(u-v+\tau) a(u-v) \, du \\ &+ O(1) \int_{0}^{x} dv \int_{-\infty}^{\infty} |a(u+\tau) a(u) a(u-v+\tau) a(u-v)| \, du \\ &= \mu_{0} \int_{0}^{x} dw \int_{0}^{w} dv \int_{-\infty}^{\infty} a(u+\tau) a(u) a(u-v+\tau) a(u-v) \, du \\ &+ O(1) \int_{0}^{x} dv \int_{-\infty}^{\infty} |a(u+\tau) a(u) a(u-v+\tau) a(u-v)| \, du. \end{split}$$

For L_{12} , we have a similar inequality in the same manner. Therefore we obtain

$$\begin{split} &\lim_{\stackrel{a \to -\infty}{\beta \to -\infty}} L_1 \\ &\leq 2\mu_0 \int_0^x dw \int_0^w dv \int_{-\infty}^\infty a(u+\tau) a(u) a(u+v+\tau) a(u+v) \ du \\ &+ O(1) \int_0^u dv \int_{-\infty}^\infty a(u+\tau) a(u) a(u+v+\tau) a(u+v) \ | \ du, \end{split}$$

and from the fact that $a(t) \in L^2 \cap L^4(-\infty, \infty)$, the condition (ii) of Lemma is satisfied, where h(v) and g(v) in Lemma are

Ikuji Honda

$$h(v) = \int_{-\infty}^{\infty} a(u+\tau)a(u)a(u+v+\tau)a(u+v) du$$

and

$$g(v) = \int_{-\infty}^{\infty} |a(u+\tau)a(u)a(u+v+\tau)a(u+v)| du$$

in which

$$\int_{1}^{\infty} \frac{\log^{2} x}{x^{2}} dx \int_{0}^{x} h(v) dv$$

$$\leq \int_{1}^{\infty} \frac{\log^{2} x}{x^{2}} dx \int_{-\infty}^{\infty} |a(u+v+\tau)a(u+v)| dv \int_{-\infty}^{\infty} |a(u+\tau)a(u)| du$$

$$\leq K_{2} \int_{1}^{\infty} \frac{\log^{2} x}{x^{2}} dx < \infty,$$

and $|g(v)| < \infty$.

In the case of L_2 , we see that a(t) is absolutely continuous and $a(t) \to 0$ as $|t| \to \infty$ which can be follows from the assumption on $F(\lambda)$.

For L_2 we use the assumption $F(\lambda) = v_0 \lambda + \varepsilon(\lambda)$ where $\varepsilon(\lambda)$ is bounded. Then integration by parts shows that

$$\begin{split} &\lim_{\stackrel{\alpha\to-\infty}{\beta\to-\infty}} L_2 \\ &= v_0^2 \int_0^x \int_0^x du \, dv \int_{-\infty}^\infty a(u+\tau+\lambda)a(v+\lambda) \, d\lambda \int_{-\infty}^\infty a(u+\mu)a(v+\tau+\mu) \, d\mu \\ &+ v_0 \int_0^x \int_0^x du \, dv \int_{-\infty}^\infty \{a(u+\tau+\lambda)a(v+\lambda)\}' \varepsilon(t-\lambda) \, d\lambda \int_{-\infty}^\infty a(u+\mu)a(v+\tau+\mu) \, d\mu \\ &+ v_0 \int_0^x \int_0^x du \, dv \int_{-\infty}^\infty a(u+\tau+\lambda)a(v+\lambda) \, d\lambda \int_{-\infty}^\infty \{a(u+\mu)a(v+\tau+\mu)\}' \varepsilon(t-\mu) \, d\mu \\ &+ \int_0^x \int_0^x du \, dv \int_{-\infty}^\infty \{a(u+\tau+\lambda)a(v+\lambda)\}' \varepsilon(t-\lambda) \, d\lambda \int_{-\infty}^\infty \{a(u+\mu)a(v+\tau+\mu)\}' \varepsilon(t-\mu) \, d\mu \\ &= L_{21} + L_{22} + L_{23} + L_{24} \qquad \text{say}. \end{split}$$

We here consider L_{22} . We have

$$L_{22} = v_0 \int_0^x \int_{-v}^{x-v} dw \int_{-\infty}^{\infty} \{a(w+\tau+\lambda)a(\lambda)\}' \varepsilon(t+v-\lambda) d\lambda \int_{-\infty}^{\infty} a(w-\tau+\mu)a(\mu) d\mu.$$

Since $\varepsilon(\mu)$ is bounded,

$$\begin{split} |L_{22}| & \leq v_0 \int_0^x dv \int_{-v}^{x-v} dw \int_{-\infty}^\infty \{a(w+\tau+\lambda)a(\lambda)\}' ||\varepsilon(t+v-\lambda)| \, d\lambda \\ & \int_{-\infty}^\infty |a(w-\tau+\mu)a(\mu)| \, d\mu \end{split}$$

$$\leq K_3 \int_0^x du \int_0^u dw \int_{-\infty}^\infty |\{a(w+\tau+\lambda)a(\lambda)\}'| d\lambda$$

$$\int_{-\infty}^\infty |a(w-\tau+\mu)a(\mu)| d\mu,$$

where K_3 is a constant. Similar inequalities are obtained for other L's. These inequalities we see that satisfy the condition (ii) of Lemma, where for example, in handling L_{23} ,

$$h(w) = \int_{-\infty}^{\infty} |\{a(w+\tau+\lambda)a(\lambda)\}'| d\lambda \int_{-\infty}^{\infty} |a(w-\tau+\mu)a(\mu)| d\mu.$$

Also for L_3 the condition (ii) of Lemma is satisfied true. Hence putting the above considerations, we see that the conditions of Lemma are satisfied for the process Y(t). Moreover in view of Lemma, we reach the conclusion of Theorem 2.

The Corollary is easily proved since we see that the conditions on a(t) show the validity of the condition $(1)\sim(3)$ of Theorem 2.

Acknowledgement

The author wishes to express his gratitude for the guidance and encouragement received from Prof. T. KAWATA and Prof. H. FUJITA of Keio University.

REFERENCES

Doob, J. L. (1953): Stochastic Process, John Wiley, 425-433.

HONDA, I. (1973): Some convergence properties for a class of general linear processes, Keio Math. Sem. Rep. No. 1, 42-52.

KAWATA, T. (1972): On a class of linear process, Proc. Second Japan-U.S.S.R. Symposium on Probability Theory and Statistics. Lecture Notes in Mathematics 330 Springer, 193-212.

KAWATA, T. (1973): Nonstationary stochastic process Keio Math. Sem. Rep. No. 1, 1-23.

Lugannani, R. (1971): Convergence properties of the sample mean and sample correlation for a class of pulse trains, SIAM J. Appl. Math. 21, 1-12.

Verbitskaya, I. N. (1964): On condition for the strong law of large numbers to be applicable to second order stationary processes, *Theory Prob. Appl.* 9, 325–331.

Verbitskaya, I. N. (1966): On conditions for the applicability of the strong law of large numbers to wide sense stationary process, *Theory Prob. Appl.* 11, 632-636.